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1. At first the weather report was sent between 
 a) London - Wales b) Rome - Venice c) Washington - Baltimore d) None 
 of the above 
 Kjd; Kjypy; je;jp %ykhf thdpiy jfty; vq;fpUe;J vJtiu 
 mDg;gg;gl;lJ? 
 a) yz;ld; - Nty;];   b) Nuhk; - ntdp]; 
 c) th~pq;ld; - ghy;bNkhh;  d) Nkw;fz;ltw;Ws; vJTkpy;iy. 
 
2. 6,   11,   21,  36,   56?  
 a) 91   b) 51   c) 81   d) 42 
 
3. Jamabandi means 
 a) Equal feast     b) Fasli Year   
 c) Revenue Annual Report   d) Revenue Tributory 
 [khge;jp – jkpo;r;nrhy; mwpf 
 a) rkge;jp tpUe;J b) tUtha; Mz;L c) tUtha; Mz;lwpf;if d)  
 tUtha; jPh;thak; 
 
4. 8,   28,   116,    584 ……? 
 a) 1752  b) 3504  c) 3508  d) 3502 
 
5. Maxium  land  Ceiling of  a family   consisting of 5 members is 
 a) 5 Standard Acres    b) 10 Standard Acres 
 c) 15 Standard Acres   d) 30 Standard Acres 
 Ie;J egh; nfhz;l xU FLk;gj;jpw;F epy cr;rtuk;G 
 a) 5 ju Vf;fh;    b) 10 ju Vf;fh 
; c) 15 ju Vf;fh;   d) 30 ju Vf;fh; 



 

 

 
6. Choose the correct mirror image of the given (X) from amongst the four 
 alternatives. 
 fPNo nfhLf;fg;gl;Ls;s (X) vd;w tiuglj;jpd; fz;zhb gpk;gj;ij 
 gpd;tUk; ehd;F 
 khw;W tiuglj;jpy; ,Ue;J rhpahf Njh;e;njL. 
 
 
 
 
 
 
 
 
 
 
 
 
 
7. 66 cubic centimeters of silver is drawn into a wire 1 mm in diameter. The 
 length of the  wire in metres will be 
 a) 84   b) 90   c) 168   d) 336 
 66 fd nrd;bkPl;lh; cs;s nts;spapypUe;J cUthf;fg;gl;l fk;gpapd; 
 tpl;lk; 1 kpy;ypkPl;lh; vdpy;  me;j fk;gpd; ePsk; fhz;f (kPl;lhpy;) 
 a) 84   b) 90   c) 168   d) 336 
 
8. Who has the power to transfer the VAO within the Respective District Level? 
 a) Tahsildar    b) Revenue Divisional Officer 
    c) District Collector  d) District Revenue Officer 
 fpuhk eph;thf mYtyh;fis mth;fs; rhh;e;j khtl;lj;jpw;Fs; ,lkhw;wk; 
 nra;a mjpfhuk; cs;sth;. 
 a) tl;lhl;rpah;    b) Nfhl;lhl;rpah; 
 c) khtl;lMl;rpah;   d) khtl;l tUtha; mYtyh;. 
 
9. The slant height of a right circular cone is 10m and its height is 8m. Find the 
 area of its curved   surface 

 a) 30  m3  b) 40 m3  c) 60 m3   d) 20 m3  
 xU Neh;tl;l jpz;kf; $k;gpd; rha;T cauk; 10 kPl;lh; kw;Wk; mjd; 
 cauk; 8 kP vdpy; 
 mjd; tisgug;gsit fhz;f. 

 a) 30  kP3  b) 40 kP3  c) 60 kP3   d) 20 kP3 



 

 

 
10. The minimum age limit to apply for the post of VAO is 
 a) 21 years completed as on the January 1st of the recruiting year 
 b) 18 years completed as on the April 1st of the recruiting year 
 c) 18 years completed as on the July 1st of the recruiting year 
 d) 21 years completed as on the July 1st of the recruiting  year 
 fpuhk eph;thf mYtyh; Njh;Tf;F tpz;zg;gpf;fj; Njitahd 
 Fiwe;jgl;r taJ tuk;G 
 a) Njh;T nra;ag;gLfpd;w Mz;bd; [dthp khjk; Kjy; ehsd;W 21 
 taJ epiwT 
 b) Njh;T nra;ag;gLfpd;w Mz;bd;  Vg;uy; khjk; Kjy; ehsd;W 18 
 taJ epiwT. 
 c) Njh;T nra;ag;gLfpd;w Mz;bd; [{iy khjk; Kjy; ehsd;W 18 
 taJ epiwT. 
 d) Njh;T nra;ag;gLfpd;w Mz;bd; [{iy khjk; Kjy; ehsd;W 21 
 taJ epiwT. 
 
11. Who suppressed the Vellore Mutiny in 1806? 
 a)  Colonel Gillespie    b) Major Cootes 
 c) Major Armstrong    d) Colonel Fancourt 
 1806-k; Mz;L ele;j NtY}h;fyfj;jpid mlf;fpath; 
 a)  fh;dy; fpy;y];gp      b) Nk[h; $l;];  
 c) Nk[h; Mk;];l;uhq;       d) fh;dy; ghd;Nfhh;l; 
 
12. G.O. No. 581, dated 3.4.1987 has indicated the 
 a) Duties and Responsibilities of VAOs 
 b) Mode of recruitment for VAOs 
 c) Fundamental Rights of VAOs 
 d) Transfer VAO’s to other Districts  
 murhiz vz;: 581> ehs; 3-4-1987 y; Fwpg;gplg;gl;Ls;sJ 
 a) fpuhk eph;thf mYtyh;fspd; gzpfs; kw;Wk; flikfs; 
 b) fpuhk eph;thf mYtyh;fspd; Njh;T Kiwfs; 
 c) fpuhk eph;thf mYtyh;fspd; mbg;gil chpikfs; 
 d) fpuhk eph;thf mYtyh;fspd; khtl;l khWjy; 
 
13. Match the following: 
            Satellite                              Date of Launching 
 a. GSAT 15  -- 1. 27th August 2015 
 b. Astrosat  -- 2. 28th March 2015 
 c. GSAT 6  -- 3. 11th November 2015 
 d. IRNSS 1D  -- 4. 28th September 2015 
 a) 3 4 1 2  b) 4 3 2 1  c) 3 2 1 4  d) 4 2 1 3 



 

 

 nghUj;Jf 
 nraw;ifNfhs;  Vtg;gl;l ehs; 
 a) [Prhl; 15  -- 1. 27 Mf];l; 2015 
 b) M];l;Nuhrhl; -- 2. 28 khh;r; 2015 
 c) [Prhl; - 6  -- 3. 11 etk;gh; 2015 
 d) IRNSS - 1D  -- 4. 28 nrg;lk;gh; 2015 
 a) 3 4 1 2  b) 4 3 2 1  c) 3 2 1 4  d) 4 2 1 3 
 
14. A right triangle with sides 3 cm, 4 cm, and 5 cm is rotated along the side of 3 
 cm to form a    cone. The volume of the cone so formed is? 

 a) 12  cm3  b) 15  cm3  c) 16  cm3  d) 20  cm3  
 xUnrq;Nfhz Kf;Nfhzj;jpd; gf;fq;fspilNa 3 nr.kP> 4 nr.kP> kw;Wk; 
 5 nr.kP gf;fq;fs;   $k;igg;Nghy; 3 nr.kP gf;fthl;il nfhz;L 
 Roy;fpd;wd. vdpy; $k;gpd; fdmsT vd;d? 

 a) 12  nr.kP3  b) 15  nr.kP3 c) 16  nr.kP3  d) 20  nr.kP3  
 
 
15. Find the correct statement: 
 (i) Marava Palayakkarars ruled Western region with having Nerkattumseval 
 as its capital. 
 (ii) Telugu Palayakkarars ruled Southern region with having Panchalankuruchi 
 as its capital. 
 a) i only b) ii only c) both  d) None of these 
 fPo;f;fz;ltw;wpy; vJ rhpahd $w;W 
 I :  ney;fl;Lk; nrty; vd;w ,lj;ij jiyikaplkhff; nfhz;L kwth; 
 ghisaf;fhuh;fs; Nkw;Fg;gFjpia Ml;rp nra;jdh; 
 II :  ghQ;rhyq;Fwpr;rpia jiyikaplkhff; nfhz;L njYq;F 
 ghisaf;fhuh;fs;           njw;Fg;gFjpia Ml;rp nra;jdh; 
 a)  I kl;Lk;  b) II kl;Lk;  c) ,uz;Lk;  d) vJTkpy;iy 
 
16. The historical indications of Revenue Village is maintained in 
 a) ‘A’ Register b) ‘B’ Register c) ‘C’ Register  d) ‘D’ Register 
 tUtha; fpuhkj;jpd; tuyhw;Wf; Fwpg;G ve;jg; gjpNtl;by; cs;sJ? 
 a) A gjpNtL  b) B gjpNtL  c) C gjpNtL 
 d) D gjpNtL 
 
17. Which among the following is not the new district of West Bengal? 
        a) Basirhat  b) Kalimpong  c) Jhargram  d) Birbhum 
 fPo;f;fz;litfspy; Nkw;F tq;fj;jpd; Gjpa khtl;lk; my;yhjJ vJ? 
 a) grpuj;  b) fspk;ghq;   c) [hh;fpuk;  d) gPh;Gk; 
  
 



 

 

18. Which number is on the face opposite to 6? 
 nfhLf;fg;gl;l vz;fspy; 6 vd;w vz;zpw;F vjpuhf cs;s vz;fis 
 fhz;f. 
 
 
  
 
 
 
 
 
 a) 4  b) 1   c) 2  d) 3 
 
19. “EARTH HOUR” the world wide movement for the planet is organized by 
         a) WWF  b) UNEP  c) IUCN  d) IPCC 
 “cyfstpyhd” vd;w fpufj;jpd;  ,af;fj;jpid elj;Jk; mikg;G vJ? 
 a) WWF  b) UNEP  c) IUCN  d) IPCC 
 
20. In 1940 Gandhi decided to start the Individual Satyagraha who was the first 
 individual Satyagraha? 
 a) Jawaharlal Nehru    b) Sarojini Naidu 
 c) Vinoba Bhave    d) Sardar Vallabhai Patel 
 1940-y; fhe;jp> jdp egh; rj;jpahfpufj;ij njhlq;fpaNghJ ahh; Kjy; 
 jdpegh; rj;jpahfpufpahf ,Ue;jhh;? 
 a) [t`h;yhy; NeU   b) rNuh[pdp ehL 
 c) tpNdhgh ghNt    d) rh;jhh; ty;ygha; gNly; 
 
21. Which one of the following is objectionable poramboke ? 
 a) Assessed dry waste     b) Natham Poramboke  
  c) Graveyard Poramboke   d) Pettai Porambake 
 fPo;f;fz;ltw;wpy; vJ Ml;NrgizAs;s Gwk;Nghf;F? 
 a) jPh;it Vw;gl;l jhpR    b) ej;jk; Gwk;Nghf;F 
 c) kahd Gwk;Nghf;F    d) ghl;il Gwk;Nghf;F 
 
22.  Which of the following were not correct regarding Nehru? 
 a) Indian National Congress President in 1929 
 b) National Planning Committee Chairman 
 c) He addressed Mahatma Gandhi as the Father of the Nation 
 d) He gave the famous Slogan “Dilli chalo”  
 a) All    b) None   c) 2, 3,  4  d) 3, 4 
 NeU njhlh;ghd nghUe;jhj $w;W vJ? 
 1) 1929-y;; ,e;jpa Njrpa fhq;fpurpd; jiytuhf ,Ue;jth; 
 2) Njrpa jpl;lf;FOtpd; jiyth; 



 

 

 3) kfhj;kh fhe;jpia ,e;jpahtpd; je;ij vd mioj;jhh; 
 4) ‘jpy;ypf;Fr; nry;’ vd;w Kof;fj;ij Koq;fpdhh; 
 a) midj;Jk; b) Nkw;fz;l vJTkpy;iy   c) 2> 3> 4 d) 3> 4. 
 
23. Which among the following State Government recently increased the 
 Salaries of the Anganwadi    Workers? 
 a) Uttar Pradesh    b) Andhra Pradesh 
 c) Punjab     d) Madhya Pradesh 
 rkPgj;jpy; ve;j khepy muR mq;fd;thb njhopyhsh;fspd; Cjpaj;ij 
 cah;j;jpaJ? 
 a) cj;jpu gpuNjrk;    b) Me;jpug;gpuNjrk;   
 c) gQ;rhg;    d) kj;jpag;gpuNjrk; 
 
24. Find out the Mismatch from the following : - 
 a) Tamilnadu Revenue Recovery Act - 1864. 
 b) Tamilnadu Land Encroachment Act - 1905 
 c) Regisration of Birth and Death Act - 1969 
 d) Tamilnadu Birth and Death registration rules- 1986 
 nghUe;jh ,izia fz;lwp 
 a) jkpo;ehL tUtha; tR+y; rl;lk; - 1864 
 b) jkpo;ehL Mf;ukzr;rl;lk; - 1905 
 c) gpwg;Gfs; kw;Wk; ,wg;Gfs; gjpTr; rl;lk; - 1969 
 d) jkpo;ehL gpwg;Gfs; kw;Wk; ,wg;Gfs; gjpT tpjpfs; - 1986 
 
 
 
 
25.  
 
  
 
  
  
 
 
 a) 7  b) 9  c) 6  d) 10 
 
 
 
 
 
 



 

 

26. Which is the first state to introduce the Manu Neethi Thittam ? 
 a) Gujarat b) Tamil Nadu c) Kerala  d) Madhyapradesh 
 ve;j khepyj;jpy; kDePjp ehs; jpl;lk; Kjd;Kjypy; nfhz;L tug;gl;lJ? 
 a) F[uhj; b) jkpo;ehL  c) Nfush  d) kj;jpag;gpuNjrk; 
 
 
27. What is the distance of NH7 (in Kms). 
 a) 2639  b) 2693  c) 2369  d) 2396 
 
 NH-7-d; J}uk; vd;d? 
 a) 2639  b) 2693  c) 2369  d) 2396 
 
28. Where Gandhi started his first civil Disobedience movement? 
 a) Ahmedabad Mill strike     b) Keda Satyagraha 
   c) champaran Satyagraha    d) Bardoli Satyagraha 
 fhe;jp jdJ rl;lkWg;Gg; Nghuhl;lj;jpid vq;F njhlq;fpdhh;? 
 a) mfkjhghj; Miy NtiyepWj;jk;  b) Nfjh rj;jpahfpufk; 
 c) rk;guhd; rj;jpahfpufk;    d) gh;Njhyp rj;jpahfpufk; 
 
29. Match the following: 
 1) White Revolution -- Egg 
 2) Green Revolution -- Grass 
 3) Pink Revolution -- Onion 
 4) Grey Revolution -- Fertilizer 
 Which is wrongly matched? 
 a) 1 only  b) 2 only  c) 1 & 2 only  d) 1 & 3 only 
 nghUj;Jf. 
 a) ntz;ik Gul;rp -- Kl;il 
 b) gRikg; Gul;rp -- Gy; 
 c) ,sQ;rptg;G Gul;rp -- ntq;fhak; 
 d) rhk;gy; Gul;rp -- cuq;fs; 
 Nkw;fz;ltw;Ws; vJ jtwhf nghUj;jg;gl;Ls;sJ? 
 a) 1 kl;Lk;  b) 2 kl;Lk;  c) 1 & 2 kl;Lk; d) 1 & 3 kl;Lk; 
 
 
 
 
 
 
 
 



 

 

30.   
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
31. The product of glycolysis is ____ 
 a) Pyruvate  b) Saccinic  acid c) Citric acid   d) Fumarfic acid 
 fpisf;fhyp]p]; fhuzkhf cUthFk; nghUs; 
 a) igUNtl;     b) rhf;Fdpf; mkpyk; 
 c) rpl;hpf; mkpyk;    d) gpa+khh;gpf; mkpyk; 
 
32. Who among the following viceroy was famously known as ‘Father of Local 
 Govt’ 
 a) Lord Dalhousie    b) Lord Ribbon 
 c) Lord Lyton     d) Lord Chelmsford 
 gpd;Fwpg;gplg;gl;Ls;sth;fSs; ahh; cs;shl;rp murpd; je;ij vdg; 
 Nghw;wg;gLfpwhh;? 
 a) ly;n`srp gpuG     b) hpg;gd; gpuG 
 c) ypl;ld; gpuG     d) nrk;];Nghh;L gpuG 
 
33. In which year direct recruitment to the VAO post was come under the  
 purview of TNPSC? 
 a) 1978  b) 1980  c) 1981 d) 1983 
 ve;j Mz;L fpuhkeph;thf mYtyUf;fhd Neub epakd Njh;T> jkpo;ehL 
 muR gzpahsh; Njh;thzaj;jpd; tiuaiwf;Fs; nfhz;L tug;gl;lJ? 
 a) 1978  b) 1980  c) 1981 d) 1983 
 
 



 

 

34. Which among the following state government launches 1st International 
 Festival on Birds? 
 a) Uttar Pradesh b) Maharashtra c) Madhya Pradesh d) Gujarat 
 fPo;f;fz;l ve;j khepyk; gwitfSf;fhd Kjy; rh;tNjr jpUtpohit 
 mwpKfg;gLj;jpaJ? 
 a) cj;jpu gpuNjrk;     b) kfhuh~;buh  
 c) kj;jpa gpuNjrk;    d) F[uhj; 
 
35 Choose the box that is similar to the box formed from the given figure  (X) 
 fPNo nfhLf;fg;gl;Ls;s tiuglj;jpw;F nghUj;jkhd xj;j tiuglg; 
 ngl;bia Njh;e;njL 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
  
 
 
36. Majority of plants and animals show _____type of respiration 
 a) Aerobic  b) Anaerobic   c) Fermentation  d) All the above 
 ngUk;ghyhd jhtuq;fspYk; tpyq;FfspYk; fhzg;gLk; Rthrk; 
 a) fhw;Wr; Rthrk;    b) fhw;wpy;yhr; Rthrk; 
 c) Gspj;Jg; nghq;Fjy;   d) ,itaidj;Jk; 
 
37. In 1857 – which of the following places were not  centre of Revolt? 
 1) Delhi   2) Jansi 3) Kanpur 4) Bihar 5) Lucknow 6) Bareilley 
 a) 1, 4, 6  b) 3, 5  c) 1, 4, 5, 6  d) None of these 
 1857-k; Mz;bd; Gul;rpapd; NghJ gpd;tUk; ve;j efuk; Gul;rpapd; 
 ikakhf ,y;iy? 
 1. nly;yp   2. [hd;rp  3. fhd;g+h; 
 4. gPfhh;   5. yf;Ndh  6. gnua;yp 
 a) 1 4 6 b) 3 5 c) 1 4 5 6 d) Nkw;fz;ltw;Ws; vJTkpy;iy 



 

 

 
38. In District Level, the Registrar of birth and death is 
 a) District Collector    b) District Revenue Officer 
 c) District Supply Officer   d) District Social Welfare Officer. 
 khtl;l mstpy; gpwg;G kw;Wk; ,wg;Gfis gjpT nra;Ak; mYtyh; 
 a) khtl;l Ml;rpah;   b) khtl;l tUtha; mYtyh; 
 c) khtl;l toq;fy; mYtyh;  d) khtl;l r%f ey mYtyh;. 
 
39. Minimum Basic Service introduced is which 5 year plan? 
 a) 9th   b) 10th   c) 8th   d) 7th 
 ve;j Ie;jhz;Lj; jpl;lj;jpy; Fiwe;j msT mbg;gilahd Nritfs; 
 mwpKfg;gLj;jg;    gl;lJ? 
 a) 9-tJ  b) 10-tJ  c) 8-tJ  d) 7-tJ 
 
40. International Mountain Day is on ____? 
 a) December 3 b) December 17 c) December 11 d) December 20 
 rh;tNjr kiyfs; jpdk; nfhz;lhlg;gLk; ehs;? 
 a) brk;gh; 3   b) brk;gh; 17 c) brk;gh; 11  d) brk;gh; 20 
 
41. Kreb’s cycle occurs in the cell organelle called ______ 
 a) Ribosome  b) Nucleus  c) Mitochondria d) ER 
 nry; cWg;Gfspy; vq;F fpug;]; Row;rp fhzg;gLfpd;wJ? 
 a) hpNghNrhk;  b) epa+f;spa]; c) ikl;Nlh fhz;bhpah d) ER 
 
42. Which is the prime moving force of Economy 
 a) Agriculture b) Industry c) Services d) PPP 
 ,d;iwa nghUshjhuf;nfhs;ifapy; vJ Kf;fpa gq;fpidg; ngw;wjhf 
 ,Uf;fpwJ? 
 a) Ntshz;ik      b) njhopw;rhiyfs;  
  c) Nritfs;       d) nghJj;Jiw jdpahh;Jiw $l;LwT 
 
43. Which of the following are correct regarding Arya Samaj? 
 I. It was founded by Mula Shankar 
 II. Founded in 1875 at Bengal 
 III. Motto was “India for the Indians” 
 a) I only  b) I & III only  c) I & II only  d) All correct 
 fPo;f;fz;ltw;wpy; \Mh;a rkh[;| njhlh;ghf vJ rhpahd $w;W? 
 I. ,J %yrq;fuuhy; njhlq;fg;gl;lJ 
 II. ,J 1875-y; tq;fhsj;jpy; njhlq;fg;gl;lJ 
 III. ,J \,e;jpah ,e;jpah;fSf;F| vd;w nfhs;ifia nfhz;lJ. 
 a) I kl;Lk;; b) I & III kl;Lk; c) I & II kl;Lk; d) midj;Jk; rhp 
 
 



 

 

44. Who issue the Deserted women certificate ? 
 a) Village Administrative Officer     b) Revenue Inspector  
  c) Tahsildar        d) Revenue Divisional Officer 
 fztdhy; iftplg;gl;lth; rhd;W ,tuhy; toq;fg;gLfpwJ? 
 a) fpuhkeph;thf mYtyh;     b) tUtha; Ma;thsh;     
 c) tl;lhl;rpah;       d) Nfhl;lhl;rpah; 
 
 45. “Life on My Terms” is the autobiography of_? 
 a) Gulam Nabi Azad     b) Sharad Pawar 
 c) Mallikarjuna Karge    d) A. B. Vajpai 
 \\tho;f;if vd; vy;iy|| vd;Dk; Rarhpij ahUilaJ? 
 a) Fyhk;egp Mrhj;     b) ruj;gthh; 
  c) ky;ypfhh;[_d fhh;Nf     d) A. B. th[;gha; 
 
46. I. The GOI started announcing the minimum support price (MSP) in 1966-67 
 II. 25 crops has been given MSP 
 Which is / are correct? 
 a) I only b) II only c) both  d) None of the above 
 I. ,e;jpa murhq;fkhdJ 1966-67-k; Mz;by; Fiwe;jgl;r MjuT 
 tpiyf; nfhs;ifia      mwptpj;jJ. 
 II. 25 gaph;fSf;F ,j;jpl;lk; nray;gLj;jg;gl;lJ. 
 Nkw;fz;ltw;Ws; vJ/vit rhpahdit? 
 a) I kl;Lk;   b) II kl;Lk;  c) ,uz;Lk;  d) vJTkpy;iy 
 
47. 20th National Youth Festival was celebrated in 
       a) Udaipur  b) Jaipur  c) Ranchi  d) Raipur 
 20-tJ Njrpa ,isQh; jpUtpoh vq;F nfhz;lhlg;gl;lJ? 
 a) cja;;g+h;  b) n[a;g+h;   c) uhQ;rp   d) uha;g;g+h; 
 
 
48. Match  
 a. Respiration  - 1. Physical process 
 b. Pharynx   - 2. Double membrane enclosing lungs 
 c. Breathing   - 3. Exchange of respiratory gases 
 d. Alveolus   - 4. Biochemical process 
 e. Pleura  - 5. Common passage for food and air 
 a) 4 2 3 5 1  b)  5 1 2 4 3  c)  4 5 1 3 2  d) 2 3 4 5 1 
 nghUj;Jf. 
 a) Rthrk;  -- 1. ,aw;gpay; nray;Kiw 
 b) ghhpdpf;];  -- 2. EiuaPuiy Rw;wpAs;s ,ul;ilr; rt;Tfs; 
 c) %r;RtpLjy; -- 3. Rthr thAf;fis ghpkhwpf;nfhs;tJ 
 d) my;tpNahy]; -- 4. caphp Ntjpapay; nray;Kiw 



 

 

 e) GSuh  -- 5. czT kw;Wk; fhw;W nry;Yk; nghJ top 
 a) 4 2 3 5 1  b)  5 1 2 4 3  c)  4 5 1 3 2  d) 2 3 4 5 1 
 
49. Who among the following was killed by Shivaji? 
 a) Ajzal Khan  b) Jaisingal  c) Ali Adilshah d) Shaista khan 
 gpd;Fwpg;gplg;gl;Ls;sth;fSs; rpth[pahy; nfhy;yg;gl;lth; ahh;? 
 a) mry;fhd;   b) n[a;rpq;fhy; c) myp mby;~h d) nrap];lfhd; 
 
50. When did the Government started  issuing the printed permanent 
 Community Certificate ? 
 a) 1981  b) 1984  c) 1988  d) 1991 
 mr;rbf;fg;gl;l epue;ju rhjpr;rhd;W ml;ilfs; toq;Ftij muR ve;j 
 Mz;L Kjy; nray;gLj;jp tUfpwJ? 
 a) 1981  b) 1984  c) 1988  d) 1991 
 
51. In a planning history, which 5 Year Plan has a short life time? 
 a) 4th   b) 5th   c) 6th   d) 7th 
 jpl;lkpLjy; tuyhw;wpy; ve;j Ie;jhz;Lj;jpl;lkhdJ kpfTk; FWfpa 
 fhyj;ijf; nfhz;bUe;jJ? 
 a) 4-tJ  b) 5-tJ  c) 6-tJ  d) 7-tJ 
 
52. Which gas quantity is same in the inhalation and exhalation process? 
 a) Nitrogen b) Oxygen  c) Carbondioxide d) Water vapour 
 cs;spOf;Fk; / ntspNaw;Wk; fhw;wpy; xNu msthf fhzg;gLk; thA. 
 a) iel;u[d;  b) Mf;]p[d; c) fhh;gd;-il-Mf;irL d) ePuhtp 
 

53. With whose permission did the English set up their 1st factory at surat? 
 a) Akbar  b) Jahangir  c) Shahjahan  d) Aurangzeb. 
 ahUila mDkjp ngw;W Mq;fpNyah;fs; jq;fsJ Kjy; tzpf 
 epWtdj;ij #uj;jpy; cUthf;fpdhh;fs;? 
 a) mf;gh;  b) [`hq;fPh;  c) ~h[fhd;  d) xsuq;frPg; 
 
54. Which of the following is annual statistical register? 
 a) Form 12  b) Form 13  c) Form 14 B  d) Form 14 C 
 ,tw;wpy; Mz;L Gs;sp tptu mwpf;if 
 a) gbtk; 12  b) gbtk; 13  c) gbtk; 14 M d) gbtk; 14 , 
 
55. In which country the world’s biggest animal cloning factory is going to be set 
 up? 
 a) India  b) China  c) Russia  d) America 
 fPo;f;fz;l ve;j ehL cyfpd; kpfg;nghpa tpyq;F FNshdpq; 
 njhopw;rhiyia epWt    cs;sJ? 
 a) ,e;jpah   b) rPdh   c) u~;ah   d) mnkhpf;fh 



 

 

 
56. I. National Rural Employment Programme - 1980 
 II. National Seeds Programme   - 1982 
 III. Jawahar Rozgar Yojana   - 1989 
 Which is/are correct? 
 a) I only b) I & III only  c) I & II only  d) All of the above 
 I. Njrpa Cuf Ntiytha;g;Gj; jpl;lk; -- 1980 
 II. Njrpa tpijfs; jpl;lk;  -- 1982 
 III. [t`h; Ntiytha;g;Gj; jpl;lk;  -- 1989 
 a) 1 kl;Lk;  b) 1 & 3 kl;Lk; c) 1 & 2 kl;Lk; d) midj;Jk; 
 
57. 8, 6, 9, 23, 87…?.. 
 a) 128  b) 226  c) 324  d) 429 
 
58. The lungs are located in the _______ cavity  
 a) Abdominal  b) Thoracic  c) Pleura  d) Nasal  
 EiuaPuyhdJ ve;j rl;lfj;jpy; mike;Js;sJ? 
 a) mg;Nlhkpdy; b) njhuhrpf;  c) g;Suh  d) ehry; 
 
59. Who among the following sultan  introduced the Arabic coinage of Tanga in 
 India? 
 a) Quit buddin Aibak    b) iltutmish 
  c) Alauddin khalji      d) Muhaamad-Bin Tajlag  
 ,e;jpahtpy; ‘lhq;fh’ vd;w mNugpa ehzaKiwia mwpKfg;gLj;jpa 
 Ry;jhd; 
 a) Fj;GjPd; Igf;    b) ,y;Jj;kp]; 
   c) myhTjPd; fpy;[p   d) Kfk;kJ gpd; Jf;sf; 
 
60. VAO is not responsible in sending reports to whom on the occurance of any  
 accidental death, robbery, suspected death were occured in his area? 
 a) Tahsildar     b) Zonal Deputy Tahsildar 
 c) Revenue Inspector   d) Revenue Divisional Officer 
 fpuhk vy;iyf;Fs; mrk;ghtpj kuzk;> nfhs;is> re;Njfkuzk; Nghd;w 
 epfo;Tfs; gw;wp fpuhk eph;thf mYtyh; ,tUf;F jfty; 
 mDg;Gtjpy;iy. 
 a) tl;lhl;rpah;      b) kz;ly Jiz tl;lhl;rpah; 
 c) tUtha; Ma;thsh;    d) Nfhl;lhl;rpah; 
 
61. Name the Nuclear capable surface to surface missile that was test fired  
 successfully from Odisha Coast in November? 
 a) Prithvi –II  b) Prithvi -I  c) Agni-2  d) Agni-1 



 

 

 xhprh flw;fiuapy; ntw;wpfukhf Nrhjid nra;ag;gl;l jiuapypUe;J 
 jiu ghaf;$ba mZrf;jp VTfizapd;  nganud;d? 
 a) gphpj;tp - 2 b) gphpj;tp - 1 c) mf;dp - 2 d) mf;dp - 1 
 
62. Which substance below is strongest electrolyte? 
 a) Chlorous Acid b) Water c) Acetic Acid  d) Hydrofluric Acid 
 fPo;f;fz;litfspy; vJ tYthd vyf;l;Nuhiyl;? 
 a) FNshu]; mkpyk;   b) ePh;  
 c) mrpbf; mkpyk;    d) i`l;Nuh/GNshhpf; mkpyk; 
 
63. Which of the following is required  as coolant in heavy water ? 
 a) Heavy water b) Cadmium  c) Liquid Sodium d) Graphite 
 fPo;f;fz;litapy; fdePhpy; Fsph;tpg;ghdhf gad;gLtJ vJ? 
 a) fdePh;  b) Nfl;kpak;  c) jput Nrhbak; d) fpuhigl; 
 
64. Match the following: 
 a) 4th FYP -- 1. ‘Garibi Hatao’ 
 b) 5th FYP -- 2. Gadgil Strategy 
 c) 6th FYP -- 3. Poverty Alleriation 
 d) 2nd FYP -- 4. Rapid Industrialization 
 a) 1 2 3 4  b) 2 3 1 4  c) 3 2 1 4  d) 2 1 3 4 
 gpd;tUtdtw;iwg; nghUj;Jf. 
 a) 4-tJ Ie;jhz;Lj; jpl;lk; -- 1. fhpgp `l;Nlh 
 b) 5-tJ Ie;jhz;Lj; jpl;lk; -- 2. fhl;[py; je;jpuk; 
 c) 6-tJ Ie;jhz;Lj; jpl;lk; -- 3. tWik xopg;G 
 d) 2-tJ Ie;jhz;Lj; jpl;lk; -- 4. njhopw;Jiw tsh;r;rp 
 a) 1 2 3 4  b) 2 3 1 4  c) 3 2 1 4  d) 2 1 3 4 
 
65. What should come in the place of ? 
 gpd;tUk; tpdhf;fspy; ? ,lj;jpy; ve;j vz; tUk; vd fz;lwpf. 
 14, 28, 20, 40, 32, 64, …… ? 
 a) 52  b)56  c) 96  d) 128 
 
66. _______ pigment present in blood helps in transport of CO2 & O2 

 a) Chlorophyll  b) Harnoglobin c) Erythrocyanin  d) Dhycocyanin  
 fhh;gd;-il-Mf;irL> Mf;]p[d; Mfpaitfis flj;Jtjw;F 
 ,uj;jj;jpy; cs;s ve;j epwkp  cjtp GhpfpwJ? 
 a) FnshNuhgpy;    b) `hh;NdhFNshgpd; 
 c) vhpj;Nuhradpd;    d) bf;Nfhradpd; 
 
67. If the wild life animals intrude in residential place, then VAO should  intimate 
 immediately  to whom? 



 

 

 a) Forest Department   b) Police Department 
 c) Tahsildar     d) All of these 
 nfhba fhl;L tpyq;Ffs; fpuhkj;jpw;Fs; GFe;J tpl;lhy; clNd 
 ahUf;F fpuhk eph;thf mYtyh; jfty; mspf;f Ntz;Lk;? 
 a) tdj;Jiw    b) fhty;Jiw 
 c) tl;lhl;rpah;    d) Nkw;fz;l midtUf;Fk; 
 
68.  which among the   following has been  mentioned  as  Samudragupta’s 
 achievements? 
 a) Allahabad pillar inscription  
 b) Mehrauli Iron Pillar inscription 
 c) Hathigumpa inscription 
 d) Junageeth Rock inscription 
 gpd;tUtdtw;Ws; vjpy; rKj;jpuFg;jhpd; ntw;wpfs; Fwpg;gplg;gl;Ls;sd? 
 a) myfhghj; J}z; fy;ntl;L b) nkfuhyp ,Uk;Gj;J}z; fy;ntl;L 
 c) mjpFk;gh fy;ntl;L  d) [_fhdj; ghiwf; fy;ntl;L 
 
69. Which F 1 player has won the Abu Dhabi Grand Prix title of Formula One race 
 held on 28 November? 
 a) Lewis Hamilton b) Nico Roseberg c) Sebastian Vettel d) Sergio Perez 
 etk;gh; khjk; 28-k; Njjp ele;j mGjhgp fpuhz;l;gphpf;]; (Formula - 1) Car 
 ge;jaj;jpy; ntw;wp ngw;w F1 - tPuh; ahh;? 
 a) Y}a]; `hkpy;ld;      b) epf;Nfh Nuh];gh;f; 
 c) nrg];bad; ntl;ly;     d) rh;[pNah Ngu]; 
 
70. Which pH value demostrates a solution with the greatest concentration of 

 OH-1 ions? 
 a) 1  b) 7  c) 10  d) 12 

 fPo;f;fz;litapy; ve;j pH kjpg;ngz; OH-1 mad;fspd; mjpf msit 
 tpthpf;fpwJ. 
 a) 1  b) 7  c) 10  d) 12 
 
71. According to Charles Law of Volume 
 a)  = a constant b) PV a constant c)   = a constant d) None 
 rhh;y]; tpjpapd; gb 
 a)  = epiyahdJ    b) PV epiyahdJ 
 c)   = epiyahdJ    d) vJTk; ,y;iy 
 
72. In which 5 year plan, considering the aim of balance regional development as 
 one of the objective? 
 a) 2nd FYP b) 4th FYP c) 3rd FYP d) 5th FYP 



 

 

 ve;j Ie;jhz;Lj;jpl;lk;> rkr;rPuhd Cuf tsh;r;rpia jdJ Kf;fpaf; 
 nfhs;ifahff; nfhz;bUe;jJ. 
 a) 2-tJ Ie;jhz;Lj;jpl;lk;  b) 4-tJ Ie;jhz;Lj; jpl;lk; 
 c) 3-tJ Ie;jhz;Lj;jpl;lk;  d) 5-tJ Ie;jhz;Lj;jpl;lk; 
 
73. A and B can do a job together in 7 days. A is  times as efficient as B. The same 
 job can be done by A alone in 

 a)  9
1

3
 days b) 11 days  c)  12

1

4
  d)  16

1

3
 

 A kw;Wk; B ,ize;J xU Ntiyia 7 ehl;fspy; Kbf;fpd;wdh;. A, B-
 ia tpl 1¾ jlit   jpwik kpFe;jth; vdpy; mNj 
 Ntiyia A kl;Lk; vt;tsT ehl;fspy; Kbj;jpUg;ghh;? 

 a) 99
1

3
 ehl;fs; b) 11

1

4
  ehl;fs; c) 12¼ ehl;fs; d) 16

1

3
 ehl;fs; 

 
74. The fidal volume of air in a normal breathing person is ______ 
 a) 500ml  b) 600ml  c) 200ml  d) 400ml  
 xU kdpjdpd; ,ay;ghd Rthrj;jpy; _______ fhzg;gLtJ. 
 a) 500 kp.yp.  b) 600 kp.yp  c) 200 kp.yp.  d) 400 kp.yp 
 
75. Which Rock edict of Ashoka provides a description of the kalinga war? 

 a) 2nd Rock Edict     b) 14th Rock Edict 

 c) 13th Rock Edict    d) Kaling Edict at Dhuali 
 fypq;fg; Nghhpidg; gw;wpf; Fwpg;gpLk; mNrhfuJ fw;W}z; 
 a) ,uz;lhtJ fw;W}z;  b) 14-tJ fw;W}z; 
 c) 13-tJ fw;W}z;   d) njsypapy; cs;s fypq;f fw;W}z; 
 
76. Discount revenue is recognized by 
 a) Village Administrative Officer   b) Revenue Inspector 
 c) Tahsildar      d) Revenue Divisional Officer 
 js;Sgb tUtha;fs; ,tuhy; mq;fPfhpf;fg;gl Ntz;Lk;  
 a) fpuhk eph;thf mYtyh;  b) tUtha; Ma;thsh; 
 c) tl;lhl;rpah;    d) tUtha; Nfhl;l mYtyh; 
 
77. The 13th ASEAN-India summit 2015 was held in ___? 
 a) Beijing, China    b) Khatmandu, Nepal 
 c) Kaula Lumpur, Malaysia   d) Delhi, India 
 13-tJ Mrpahd;-,e;jpah fUj;juq;fk; 2015 vq;F eilngw;wJ? 
 a) gp[pq; - rPdh       b) fhj;kz;L - Neghy;    
 c) Nfhyhyk;g+h; - kNyrpah   d) nly;yp - ,e;jpah 
 
78. Which of the following natural sources contains oxalic acid?  
 a) lemon  b) orange  c) tomato  d) tamarind 



 

 

 gpd;tUk; ,aw;if nghUspy; Mf;]hypf; mkpyj;ij nfhz;lJ vJ? 
 a) vYkpr;ir  b) MuQ;R  c) jf;fhsp  d) Gsp 
 
79. Quantity of heat required to raise the tempertature of an object through 1K 
 is called ________ 
 a) Specific Heat Capacity   b) Thermal Capacity 
 c) Specific Latent Heat   d) None 
 xU nghUspd; ntg;gepiyia xU nfhy;tpd; mstpw;F cah;j;j 
 Njitahd ntg;g msT 
 a) ntg;g Vw;G jpwd;   b) ntg;g jpwd;  
 c) Fwpg;gpl;l cs;Siw ntg;gk;   d) vJTk; ,y;iy 
 
80. I) Rolling Plan - USA 
 II) 5 Year Plan - Russia 
 Which is/are correct? 
 a) I only b) II only c) both  d) None of the above 
 I) Roy; jpl;lk; - mnkhpf;fh 
 II) Ie;jhz;Lj; jpl;lk; - u~;ah 
 
 Nkw;fz;ltw;Ws; rhpahdJ vJ? 
 a) I kl;Lk; b) II kl;Lk;  c) ,uz;Lk;  d) vJTkpy;iy 
 
81. A can finish a work in 24 days, B in 9 days and C in 12 days, B and C start the 
 work but are forced to leave after 3 days. The remaining work was done by A 
 in 

 a) 5 days  b) 6 days  c) 10 days  d) 10½ days 
 A xU Ntiyia 24 ehl;fspy; Kbf;fpwhh;. B mNj Ntiyia 9 
 ehl;fspYk; C 12 ehl;fspYk; jdpj;jdpahf Kbf;fpd;wdh; vdpy; B 
 kw;Wk; C ,ize;J Ntiyia Muk;gpj;J 3 ehl;fs; nra;j gpwF 
 fl;lhakhf ntspNaw;wg;gLfpd;wdh; vdpy; kPjKs;s Ntiyia A 
 vt;tsT ehspy; Kbj;jpUg;ghh; 
 a) 5 ehl;fs;  b) 6 ehl;fs;  c) 10 ehl;fs; d) 10½ ehl;fs; 
 

82. _________ Prevents the entry of food into the windpipe at the time of 
 swallowing of food. 
 a) Pharynx   b) Glottis  c) Epiglottis  d) Larynx  
 cztpid tpOq;Fk;NghJ czthdJ %r;Rf;FohAf;Fs; tpOfhky; 
 jLg;gJ 
 a) ghhpdpf;];  b) f;Nshl;b]; c) vgpf;Nshl;b]; d) Nyhpd;]; 
 
83. Match: (Regarding Jainism) 
 a. Digambaras   -  1. Stulabahu 



 

 

 b. Valabhi   - 2. 2nd Jain Council 
 c. Pataliputra   - 3. Bathrabahu 

 d. Svetambaras   - 4. 1st Jain Council 
 a) 3 4 2 1  b) 3 2 4 1  c) 3 1 2 4  d) 1 2 3 4 
 nghUj;Jf. (rkz rkaj;jpd; njhlh;ghf) 
 a) jpfk;guh;fs; -- 1. ];J}y ghF 
 b) ty;ygp  -- 2. ,uz;lhtJ rkz rka khehL 
 c) ghlypGj;jpuk; -- 3. gj;ughF 
 d) RNtjhk;guh;fs; -- 4. KjyhtJ rkz rka khehL 
 a) 3 4 2 1  b) 3 2 4 1  c) 3 1 2 4  d) 1 2 3 4 
 
84. Long term Lease refers the period of 
 a) 3-5 years b) above 5 years c) above 10 years d) None of these 
 ePz;lfhyf; Fj;jif vd;gJ 
 a) 3-5 tUl fhyk;   b) 5 tUlq;fSf;F Nkw;gl;l fhyk; 
 c) 10 tUlq;fSf;F Nkw;gl;l fhyk;  d) ,tw;wpy; VJkpy;iy 
 
85. Head Quarters of South Western Railways is located at 
 a) Secunderabad  b) Hubli  c) Jabalpur  d) Mumbai CST 
 njd;Nkw;F uapy;Ntapd; jiyikaplk; vq;F mike;Js;sJ? 
 a) nrfe;juhghj; b) `{g;  c) [gy;g+h;  d) Kk;ig CST 
 
86. Which of the following indicators is an olfactory indicator?  
 a) litmus b) vanilla  c) turmeric  d) phenolphthalein 
 gpd;tUk; Fwpfhl;bfspy; xU Nkhg;g fhl;b vJ? 
 a) ypl;k]; b) ntz;zpyh c) kQ;rs;  d) gpdhy;g;j;jypd; 
 
 
87. The sensation of the sound persists in human brain for about _________ of a 
 second 

 a)  
1

5
th   b) 

1

10
 th   c) 

1

20
 th  d)  

1

100
th  

 xyp czh;T Rkhh; vj;jid nehbfs; kdpj %isapy; njhlh;fpwJ. 

 a) 
1

5
    b) 

1

10
    c)  

1

20
   d)  

1

100
 

 
88. A and  B can do a work in 8 days, B and C can do the same work in 12 days, A, 
 B and C together can finish it in 6 days. A and C together will do it in: 
 a) 4 days  b) 6 days  c) 8 days  d) 12 days 
 A kw;Wk; B ,UtUk; Nrh;e;J xU Ntiyia 8 ehl;fspy; Kbf;fpd;wdh;. 
 B kw;Wk; C Nrh;e;J mNj Ntiyia 12 ehl;fspy; Kbf;fpd;wdh;. AB 
 kw;Wk; C %tUk; Nrh;e;J 6 ehl;fspy; Ntiyia Kbj;jpUg;ghh;fs; 



 

 

 vdpy; A kw;Wk; C Nrh;e;J vj;jid ehl;fspy; Ntiyia      
 Kbj;jpUg;ghh;fs;. 
 a) 4 ehl;fs;  b) 6 ehl;fs;  c) 8 ehl;fs;  d) 12 ehl;fs; 
 
89. The movement of a substance from a region of higher concentration to lower 
 concentration    ________________ 
 a) Osmosis b) Respiration c) Circulation   d) Deffussion 
 mjpf nrwpTs;s ,lj;jpypUe;J Fiwe;j nrwpTs;s ,lj;jpw;F 
 %yf;$Wfs; efh;tJ 
 a) rt;t+L guty; b) Rthrpj;jy; c) Rw;Nwhl;lk; d) xspgug;G 
 
90. Which of the following vedic tent contains an account of magical 
 charms/Black magic 
 a) Gandharva veda    b) Yajur veda 
 c) Silpaveda           d) Adarvaveda  
 gpd;Fwpg;gplg;gl;Ls;s ve;j Ntfj;jpy; ke;jpu cr;rhldk;/kha 
 NtiyfSf;fhd topKiwfs;   fhzg;gLfpd;wd? 
 a) fe;jh;t Ntjk;    b) a[_h; Ntjk; 
 c) rpw;gNtjk;    d) mjh;tz Ntjk; 
 
91. Analyse the following statement about the village account No. 1. 
 I. The account has to be maintained every year from the month of April till 
 March of the following   year. 
 II. The  account has to be finalised along with  other particulars like village 
 account No. 1A and 20 and  the it has to be furnished to Revenue Inspector 
 before  25th of every month  
 III. The account should be verified by the Revenue Inspector and it has to be 
 returned to village administrative officer once after registering details in his 
 official Pirka level Record. 
 a) Only I is correct     b) Only II is correct 
 c) Only III is correct     d) All are correct 
 gpd;tUk; $w;wpid Ma;f : - fpuhkf;fzf;F vz; - 1 
 I: ,e;j fzf;F xt;nthU Mz;Lk; Vg;uy; khjk; Kjy; mLj;j Mz;L 
 khh;r; khjk; tiu guhkhpf;fg;gl Ntz;Lk;. 
 II. ,e;jf; fzf;if fpuhkeph;thf mYtyh; xt;nthU khjKk; Kbj;J 
 25e; Njjpf;F Kd;G  fpuhkf;fzf;F -1 A kw;Wk; 20  Mfpa 
 fzf;FfSld; tUtha;  Ma;thsUf;F mDg;gNtz;Lk;. 
 III. ,e;jf; fzf;if tUtha; Ma;thsh; rhpghh;j;J mth; FWtl;lk;  
 mstpy; guhkhpf;fg;gLk; gjpNtl;by; gjpT nra;J nfhz;L fpuhk eph;thf 
 mYtyUf;F jpUg;gp mDg;g Ntz;Lk;. 
 a) I kl;Lk; rhpahdJ      b) II kl;Lk; rhpahdJ 
 c) III kl;Lk; rhpahdJ    d) midj;Jk; rhpahdit 
 



 

 

92. How many National Waterways are there in India at present? 
 a) 5   b) 106    c) 111   d) 121 
 ,e;jpahtpy; jw;nghOJ vj;jid Njrpa ePh;topj; jlq;fs; cs;sd? 
 a) 5   b) 106    c) 111   d) 121 

 
93. Solid sodium bicarbonate was placed on a strip of pH paper. The color of the 
 strip 
 a) turned red     b) did not change 
 c) turned green and slightly yellow d) turned pink 
 jpl Nrhbak; igfhh;gNdl;il xU Jz;L pH fhfpjj;jpy; 
 itf;fg;gl;bUf;fpwJ. fhfpj epwj;jpd; tpisT 
 a) rptg;ghf khwpaJ    b) khwtpy;iy 
 c) gr;ir kw;Wk; rpwpJ kQ;rshf khwpaJ d) ,sQ;rptg;ghf khwpaJ 

 
94. According to Galileo “in the absence of air all bodies will fall ___________” 
 a) with an increase in acceleration b) with a decrease in acceleration 
 c) at same rate    d) None of these 
 fypypNahtpd; fUj;jpd; gb fhw;W ,y;yhj epiyapy; midj;J 
 nghUs;fSk; vt;thW    tpOk; 
 a) KLf;fk; mjpfhpf;Fk;    b) KLf;fk; FiwAk;  
 c) mNj epiyapy; ,Uf;Fk   d) xd;Wk; ,y;iy 
 
95. Match the following: 
 a) Bombay Plan -- 1. M.N. Roy 
 b) Gandhian  Plan -- 2. J. R. D. Tata, G. P. Birla 
 c) People’s Plan -- 3. J. P. Narayanan 
 d) Sarvodaya Plan -- 4. Sri Narayan Agarwal 
 a) 4 1 2 3  b) 4 2 1 3  c) 2 4 1 3  d) 2 1 4 3 
 a) ghk;Ng jpl;lk; -- 1. M.N. uha; 
 b) fhe;jpa jpl;lk; -- 2. J. R. D. lhl;lh> G. P. gph;yh 
 c) kf;fspd; jpl;lk; -- 3. J. P. ehuhazd; 
 d) rh;Nthjah jpl;lk; -- 4. = ehuhaz; mfh;thy; 
 a) 4 1 2 3  b) 4 2 1 3  c) 2 4 1 3  d) 2 1 4 3 
 

 Instructions for questions (96 -100): Study the following arrangement 
 carefully and answer the questions given below: 
 Nfs;tp vz; 96 ypUe;J 100 tiu fPNo nfhLf;fg;gl;Ls;s thpirfis 
 ftdkhf gbj;J gjpy; jUf. 
        S   K   6   £   Q    2   R   *   C   F   8   E   $   G   2  #  4   9   L   N 3   U   V   5   Y   
 A   B   7   W   9 
 
 



 

 

96. What should come in place of question mark in the following series? 
 fPNo nfhLf;fg;gl;Ls;s Nfs;tpf; Fwpapy; rhpahd gjpiy nghUj;J. 
 S 9 K  6 W £  Q 7 2  ?  C a F  
 a) RY *   b) *YC    c) 2BR   d) R B * 
 
97. How many symbols are there in the above arrangement each of which is 
 immediately preceded by but not immediately followed by a letter of English 
 alphabet? 
 a) Nil   b) One   c) Two   d) Three 
 NkNy nfhLf;fg;gl;Ls;s Vw;ghLfspy; vj;jid rpd;dq;fs; 
 vOj;Jf;fspd; Kd;djhfTk;    mNj rkak; vOj;Jfspd; 
 njhlh;r;rp ,y;yhky; Mq;fpy mfuhjpapd; gb cs;sd. 
 a) xd;Wkpy;iy b) xd;W  c) ,uz;L  d) %d;W 
 
98. If the positions of # and $ are interchanged so also the positions of £ and *, Q 
 and K and F and V are interchanged, which of the following will be the nineth 
 element to the left of eighteenth element from the left? 
 a) C   b) V   c) 8   d) * 
 # kw;Wk; $-d; ,Ug;gplkhdJ khw;wg;gLfpwJ. mNj rkak; £ kw;Wk; *, Q 
 kw;Wk; K, F kw;Wk;  V MfpNahuJ ,Ug;gplKk; khw;wg;gLfpwJ vdpy; ve;j 
 cWg;G kw;Wk; ,lJ Gwj;jpypUe;J gjpndl;lhtjhf cs;s cWg;gpd; 
 ,lJGwj;jpy; xd;gjhtJ cWg;ghf mikAk;? 
 a) C   b) V   c) 8   d) * 
 
99. S K £ is related to 9WB  in  the same way of Q 2 * is related to 
 a) a Y 5  b) 7 B Y  c) BYV   d) aYV 
 S K £ vd;w thf;fpaj;jpd; njhlh;GilaJ 9 WB vdpy; mNj topapy; Q 2 
 * vd;w thf;fpaj;jpd; njhlh;G fhz;f. 
 a) a Y 5  b) 7 B Y  c) BYV   d) aYV 
100.  Three of the following  four are alike in respect of their position in above 
 series. Which is the one   that does not belong to  that group? 
 a) Q * 8  b) £ R F  c) 6 2 C  d) 2 * 8 
 nfhLf;fg;gl;Ls;s thpirfspd; gjpy;fspd; ,Ug;gplkhdJ ntt;Ntwhf 
 fhz;gpf;fg;gl;L-   s;sd. ,tw;wpy; thpirfspd; 
 jdpj;jpUg;gitfis fz;Lgpbf;fTk;. 
 a) Q * 8  b) £ R F  c) 6 2 C  d) 2 * 8 
 
 
 
 
 
 



 

 

Answer Key 
 

1. c 2. c 3. d 4. c 5. c 6. c 7. a 8. c 9. c 10. d 
11. a 12. a 13. a 14. a 15. c 16. a 17. d 18. b 19. a 20. c 

21. c 22. d 23. b 24. d 25. c 26. b 27. c 28. c 29. c 30. b 

31. a 32. b 33. b 34. a 35. a 36. a 37. d 38. b 39. a 40. c 
41. c 42. a 43. b 44. c 45. b 46. c 47. d 48. c 49. a 50. c 

51. b 52. a 53. b 54. d 55. b 56. b 57. d 58. b 59. b 60. d 
61. a 62. a 63. a 64. b 65. b 66. b 67. d 68.a 69. b 70. d 

71. a 72. c 73. b 74. a 75. c 76. d 77. c 78. c 79. b 80. b 

81. c 82. c 83. b 84. b 85. b 86. b 87. b 88. c 89. d 90. d 
91. d 92. c 93. b 94. c 95. c 96. d 97. a 98. a 99. d 100. d 


